
Najděte rozdílnosti mezi dvěma řádky 

 

BSLP4SF8V5S89V595V9W8SGS6V6G9SHJEB6S4V6SV5 

BSLB4SE8V5S89V595V9W8SGSGV6G9SHIFBGS4V65V5 

 

TBLJS46VS6E8FB541064FS16544616654H654DJS64SD65 

TBIJS46V56F8EB541O64FSL65446L6654H654DJSG4SD65 

 

KIUJAL65KSDJVLKJWIKLV55LJBS4V46SV1ASJLKP7V 

KLUIAL65K5DJVLKJMIKLVS5LJBS4V465V1ASILKB7V 

 

VMAVYBBOUWMASLUBWOEVBHASLVWBLSHBSKB 

VWAVYPBOUMWA5LUBWOFVBRASLWWBL5HB5FB 

 

SJBHLWZB5U4N4MD6PD6B1E6N16D6N165DH6J61GN4 

SJPHLMZB5V4N4WD6BD6P1E6M16DGN165DHGJ616N4 

 

5LKIF565FBG5WB65S26P54S56CFB155651P23S15P1355 

SLKJF56SFB65WB65S26B54S56DFB15S651B23S15B135S 

©Pamětář 


